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General Knowledge with General English

Booklet Series B Register
Number
Time Allowed: 3 Hours [Maximum Marks: 300]

Read the following instructions carefully before you begin to answer the questions.

e

IMPORTANT INSTRUCTIONS

. This Booklet has a cover (this page) which should not be opened till the

invigilator gives signal to open it at the commencement of the examination. As
soon as the signal is received you should tear the right side of the booklet cover
carefully to open the booklet. Then proceed to answer the questions.

This Question Booklet contains 200 questions.

Answer all questions. All questions carry equal marks.

The Test Booklet is printed in four series e.g. A R C or
(see Top left side of this page).

D

The Candidate has to indicate in the space provided in the Answer Sheet the series
of the booklet. For example, if the candidate gety A |series booklet, he/she has
to indicate in the side 2 of the Answer Sheet withr BTue or Black Ink Ball point
pen as follows.

] B =] [<] [»

You must write your Register Number in the space provided on the top right side
of this page. Do not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the
answers. You must write your Name, Register No. and other particulars on side 1
of the Answer Sheet provided, failing which your Answer Sheet will not be
evaluated.

You will also encode your Register Number, Subject Code etc., with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet.
If you do not encode properly or fail to encode the above information, your
Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C) and (D). You are to select
ONLY ONE correct response and mark in your Answer Sheet. In case you feel
that there are more than one correct response, mark the response which you
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10.

11.

12.

13

consider the best. In any case, choose ONLY ONE response for each question.
Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets [ A][ B ][ C ] and [ D ] against each
question. To answer the questions you are to mark with Ball point pen ONLY
ONE bracket of your choice for each question. Select one response for each
question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g.
If for any item, (B) is the correct answer, you have to mark as follows:

[A]- [C][D]

You should not remove or tear off any sheet from this Question Booklet. You are
not allowed to take this Question Booklet and the Answer Sheet out of the
Examination Hall during the examination. After the examination is concluded,
you must hand over your Answer Sheet to the Invigilator. You are allowed to take
the Question Booklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough
Work.

Failure to comply with any of the above instructions will render you liable to such
action or penalty as the Commission may decide at their discretion.

. In all matters and in cases of doubt, the English Version is final.
14.

Do not tick-mark the answer in the Question Booklet.
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TNPSC - Group-II Examination— 2010
(Combined Subordinate Services Examination I, 2010)

Qurg gfle) LHMI GUTE! gy HiglsuLd
allrrggrer auflens| B udley
6T6w0T

[9)smwdssin’ Herer Cryid : 3 wevf] | [Qurss wElliCusirser : 300]

alleT 58158 LIdleeflsEpsir SssmmL. I)ifelmiTSHmeT SealeTLomsLl Lip S&eaL.

W&EW gjflelemyser

1. @i e Cesr@ly e Cuammamw (@hs USsS5ms)s Gsmsur(bhsTars.
Caitey Qam_miEh Crrsdh allamsasr@lmus Sng@LiLly setrsTsufliLment
gmid  euemrully CuymmeiLs - Hnsss  swLrgl ellamssr@Llmus
Sns@LLgwrer Galems sersmeflliurerBlmhg GQubme st GCLosyemmuilsor
IGILMSMS SelaTons SHiflssis Snés Geusr(hin. s iear CasmalsEnss
afleoLWefl& s OSTL MhigeLD.

2. @ allemms Gam@Ly 200 efleTmssemems Glamesr(b6Tsma).

3. steoeor eSS EHSGW  ellemLweflSSEnn, sTeer  eSETTSSERD  SLOLDT6T
SHIIGILETTS6T Gl&TeToTL 6mEL.

4. elfleorms Gam@ L A R C | g | 1 | eTer kTS

auflmaseafld  gFHL LU’ (Hemengl @EBsL USSSSH6T QL gl G epameuuilsd
2 6TeT SLLSMSL LTSS D) ellemsoriugrym  elemssmsT  auflomasmw
afleoLgssflen genblsear  omuwhgsTar QL SH0  GMSEIS smamiss
@euemoT(HILD. 2-SHMT6TOTLONS 6(h, eletoTevoTLILSTTT | A |6TeoTanld efleormd QTG LI
CUDY\HHESTEL e - o0 SHetTarlenL L allenL_SSTerlear @IT6iTLMD LSS0
&0 emamisglerereurn ol oG S  Hmemieni il Lkhg)LpemeorL
Guearmelleurmed GMISSHIS S L Goustor(HILd.

+ JHl (=] [c] [»

5. o mgEHmLIL Ldley eTevorememor @ESL LSESSSET alvg epemeuuied 95mblssor
IoLGIETeT @I Sl Bhser e Gousr(hin. Goum s ellerTs
QETGIS6) 6T Snl TG

6. ellomLsmers GNSSS &ML ear, lmLSSTT QAN 2 MSEHSES
seursmenfllLTeryTe) SHeaflurss SruuGL. el soreaflar (pHe LSSSSH60
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2 mIGEHMLI LSley 6Tetor, G womid sl (hsTer alurmssmer Bhiser LS
GeustoT(hLd:— SeunlesTev 2 miG6TE llenL ST GlF6ITSH ST (GLD.

7. o mgEhemLIL udle| eTevor, Caie SSTeT 6TetoT (LPSeSILRIMEmMILD, aflsmLSsmerflsor
@ITeToTLMD LUSSSS0 I|meSERSSTS IemLbglsTer @I misafle Hon 9joag
el HimsnwwemLw ungipenerl Guemellerme GMS&Is STl Geossor(HlLb.
CupserL elurhisemst el Samafley Fhiser GN&HESIs STLS SHeunlemmsy
2 g6 ellenL &S mer ClFaeTsSTeaLILI(HILD.

8. eeuGleury eflesrmeyn [ A ] [ B ][ C ] wmmud [ D ] eteor w6 ellenL semerd
Gameir(heerg). Fruser gjemeudsefled 6T e aflumer aflsnLemus Caiey C&iig)
afleoLgamefley GNlSss &ML Gl eatm&HE Guou’r  &flwmer
aflenL 6T (1, CaE6all& G @HLULSTSS &([mSlerme BrussT s& sfliumers) sTeorm)
Tmss  SMEISNNTsComm s afoLau aflomLssrafld GNsss &L
Geuemor(pd.  sTULIgWMUfsID @ CoeallsE 6T 6@  ellmLamwussmsr
Coimshiss GCosmm@ld. o misEhmLw  Curds LHICLETST — BriseT
afleoLgamefle @Msgs s (b sflwumer ellenLseaflsr  Tevmeunll&emaemiLiL
QUTMISS S

9. aflemLgsmefley eeuGeumm Caerall sravmsmfim@n stélfleo [ A 1 [ B ][ C ] mhmid
[ D ] steor mmeor@ ellemLSaLLmigG6T 2 erorer. 6 CsatellsE alsmLwsflss
Pruser sfClers smeid el @Gr @ almL&sLLSH0 (O Ubhg
(pemertLl Guemrmaileammed GMSGIS S L Coustior(hln. speuGleum(m Caerals@n e
aflemLenins Coimoshiss almLgsmfly @Mles Gosmm®Oh. @ GCosmailss
RETMISE GuoulL afoLwellssTe 9nhe ool SNTETESTS &[HSLIL(HLD.
2 gryewrons Hhugst [ B ] ererueng sflumer efleoLwunss smdlermh ojmms
UlstreumLomml GMSEIS Sl Geussor(HlLb.

[A1[jjjic1 o]

10. Brugst elleors Gam@Liler hsl LESSmSWLD FEH50CT 9jeng SifsestGar
FgLrgl Goinl . CrrsdHe @Fs olaomg Cer@lemerGur  gjeg)
allenL_S&TemerGT Caies snLGma ol (h Geleflufley sT(H&EIEF ClF6ne gnl Mg
Gaiiey (pehsLisr Bhiser 2 misEhmLL allmLSSTmars seursmsuofllLmar
Qasmhss ol Geusr(hld. @euailemms OQer@lillamears G (bl s
IBraIs6iT 2 mhig EhL 6T 6T(h&gI& Glasuee.

11. @llyssT  sTdll umiiugneE eolams GsmEllsr soLdl usEsSSHDE
(PETLSESSMS 2 LGIWTHSEI8 GsTsTaTauTLD.

12. Gumser, eldsafly smgumag  larmsy GCsiaumemssmuid  (Lpip Cleuhi& @G L
L6l &60&8EhHE 2_6mamd Crfl(Hd eTer 9o mISSILGSEDS.

13.1 pae 100 auemmuileorss aflemssafly g midln aigail GarhssUu (Herer
GMIILSET ST6T (Llg QUTEITST(G)LD.

14. eflems Gam@Liflsh ellenL s @Ml Ceur, GO0 ST L Cour gn L.
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flarey ummhis o @hETailsT SHELTESLIL &eurTeoTT Wimi—
A) el Qi B) 9. prissmTa 60T
C) Lilo6b sneoredr D) lg. &LIumymey

Who is the Governor of Reserve Bank of India at present?
A) B.Y. Reddy B) C. Rangarajan
C) Bimal Jalan D) D. Subbarao
U igiwied T en L igwiey IT 2 161 QU &6 Garhi&sUu Qarer @Gdluibhsmens
G&meuor(h sflwmer afsnLsmiug Caih0ls 0.
UL tg ey T

a) dmdl

b) (HTETTS Sn G607

c) FGrm@® sLilpeTLIsHT

d) yelwrs

Gmuihser:

ist 1l correctly and select your answer using the codes

List-I
1. Thoni Varugiradhu
b 2. lduthan
c) Erode Thamizh Anban 3. Anru Veru Kizhamai
d) Puviyarasu 4. Surya Nizhal
Codes:
a b c d
A) 2 3 1 4
B) 4 3 1 2
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C 1 2 4 3

D) 3 1 2 4

SLp&s6eurLaUMmI6T 678 QUITHETTSTT L Al SHm&s6fls) FLbSLILL aflsusne ?

A) eu@LIfled LML LD LS8 B) Grmumsflemw ufiGardlé@Lo L m&agiar
C)@YhengemiL saleflggs D) Cumhdle Lwsmrd Ggionig)
Q& T6TEHLD Sl

Which of the following is considered as a non-economic activity?
A) Teaching in a class B) Patient attended by a doctor
C) Mother taking care of her child D) travelling in a bus

ur&Imemestd &evorLmlhGeur wirm ?

A) emait GuTi(h B) g8

C) GuoLtd &yl D) s’ als

Positron was discovered by

A) Rutherford B) Dirac

C) Madam Curie D) Chadwick

Om&LD o (B (1

A) FlenetTars &g eoTLD B) 2_sierfi(p) &mgeurio

C) Qeuafluii(h) &ma 6o D) 2 arefl(h — Qeuafluii(p) emgeorio
Floppy disk is a /an

A) storage device B) input device

C) output device D) input-output device

@ Gumgeflssr sflumsr wHiy 415 womId Yser sewllssiu L wiy 400
6TEITMITEL (L(LpsLOLI LSlemLpILIT6DT S|

A) -15 B) 15

C) 0.0375 D) -0.0361

If the actual value of an item is 415 and its estimated value is 400, the
absolute error is

A) -15 B) 15

C) 0.0375 D) -0.0361

@rdw  grfevsnniiier g I Lelemenr Lmflomisaflsr GLWTSET LommiD
Hleoliurlisnu & midlng ?
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10

A) (PSTEUG| I L 66mETT B) @revor_meug) L 6vemevor
C) eeiTmmeLg)| S| L 616m6uoT D) mreiTameg) S L aleneuor

Which one of the following schedules of the Constitution of India lists the
names of States and specifies their territories?

A) First B) Second

C) Third D) Fourth

sLlPsSSEL CFTeL LPHISTE 6ATILLD (LPS6T (LpS6ele 6ThiE Sevo(hlily Sali L g ?
A) &1peusmer B) &g g etreureumasy

C) LosvsuLiLimy D) uemssrLosmen

Where were the ancient paintings discovered first in Tamil Nadu?

A) Keelvalai B) Chittanavasal

C) Mallapadi D) Panaimalai
@eefliuemel mTMUG! — Bmedlsor o &flwrt

A) ellemold) mrasesrmi B) uslb Gamhgermt

C) semflGLogmeiiwmm D) meveumg eoTmit

The author of the 'Iniyavai narpadhu’ is

A) Villambi Naganar B) Boodham Sendhanar
C) Kani Medhaviar D) Nalladhanar

U igwied I &g L igwev IT 2 L er QuTmss), 6y Ger@ssiur (st Goluibhsmers
Gameor(h srflureT allemLsmiisg Csin0ls 0.

UL tgiied T UL tguie 1T
a) 158 Coaueim Low&sL D) b.p&giem
b) urresd 2) @S LTSS &)
C) BIMSTEONSSTITE6T 3) 9IlEHIT ysvoTeTOTIT
d) uél 4) SHEMEVEBIT (Lp. S(HETTTIHIS
Gmuibser:
a b c d
A) 3 4 1 2
B) 1 3 4 2
C 2 1 3 4
D) 4 2 1 3
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1.

12.

13.

Match List-1 with List Il correctly and select your answer using the codes

given below:
List-I List-II

a) Needhi Devan Mayakkam 1. Na. Muttusamy

b) Parasakthi 2. Indra Parthasarathy

c) Narkkalikarargal 3. Arignar Anna

d) Pasi 4. Kalaignar Mu.
Codes: Karunanidhi

a b c d

A) 3 4 1 2
B) 1 3 4 2
C 2 1 3 4
D) 4 2 1 3
HDI ereatuig 6t ellifleursein
A) anfis &) eueri&d] flmieeorio B) werflg aueri&d) @pluih
C) werflg suari&d] (pged(h D) @eimmieT 6Tgi6flsismev

The expansion of HDI is

A) Hindi Development Institute B) Human Development Index
@) Human Development D) None of these

Investment

EMEMLITE6IT (5)600TIg.60T Il LILIEDL. &SSI6LLD

A)2 I s Oleilg 5860 B) 2 L&, @lenemrs e

C) 2 s et s60 D) Geusid @eomnbe 6lemeur
Hydrogen Bomb is based on the principle of

A) nuclear explosion B) nuclear fusion

C) nuclear fission D) slow reaction

eLpev [Klreb Glomfl eTeaTLIg - . . . . . Hisb Gomflufled eTepSILCL G
A) gyidleold B) @i G

C) Guoeurhlemev D) Glumn)

A source program is the program written in ....... Language
A) English B) Symbolic

C) High level D) Machine
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14.

15.

16.

17

@\ ereiorsefleor alldlsn 3 : 8 Lmmid gjeublausTseflamL G
A) 66 B) 46
C) 184 D) 96

The ratio of two numbers is 3 : 8 and their difference is 115. The larger
number is

A) 66 B) 46

C) 184 D) 96

S&aU0&emeT Lisarfl efleurmigerms mmmid CUTgl 9emeussT . .« . . . L5 @(H&S
Goustor(Hid

A) (P 6TETOTSHETTS B) @\rsvor( QL &&Lo LNeiTeuiicsems

C) Yetresrmiigsemrss D) @eummie srgeLilsuemey

Conversion of information to data will be in the form of

A) integers B) rounded to 2 decimals

C) fractions D)-any of these

gemevenln B LeTmid (g sTOIGESL LIT&gmens @il Caiige / Caiigsugst
A) sperrrélug) G& g 60 L (Hid B) 2.u syemr&luigl Gsiigen L (Hin

C) sgeormlug) mmid 2 1 wemmdlug]l D) s wiSHifl Coirgs

GCaigen

The Supreme Court decides the disputes regarding the election of

A) President alone B) Vice-President alone
C) both President and Vice- D) Prime Minister
President

UL 1pwied T'en Liiguied IT 2 16t QU S0 Garhissiul Herer @Gmluibhaemers
Gameuor(h sfliwmer afsoLsniug Caih0ls 0.

LI Lo uie) | UL tguie 1T
a) &5 &LNroeooflwin 1) s 6voTevufit
b) 9CamsLhssir 2) GMLIT6LEBTLD
c) &m. shgamil 3) aumgaumrEey
d) &.&. GFeeolim 4) QUMLSCEsH6)
Gmuibser:
a b c d
A) 2 3 1 4
B) 1 2 4 3
C) 4 1 2 3
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18.

19.

20.

D) 3 4 1 2

Match List-1 with List Il correctly and select your answer using the codes

given below:
List-1 List-11
a) Ka. Na. Subramanyan 1. Thanneer
b) Ashoka Mithran 2. Sayavanam
c) Sa. Kandasamy 3. Vadi Vasal
d) Si. Su. Chellappa 4. Poiththevu
Codes:
a b c d
A 2 3 1 4
B) 1 2 4 3
C) 4 1 2 3
D) 3 4 1 2
"e6aTGM (GH6ULD : 6p(HeuGeT CareuedT! 6T6aTM) S MIlLIGUIT
A) eueTerTeumT B) 9stoTeorT
C) &meLpsort D) gmyLomeoreurt
"Onre Kulam ; Oruvane Devan" was said by
A) Vallalar B) Anna
C) Thirumoolar D) Thayumanavar

&S SMHSL FNEGL (PLUIGILIT (6T sTemen ?
A) &iiLom, L), EhTeurTLd B) ud), ua, ur&Ld
C) ur&Ld, EHmeuTLD, S66T D) &euetr, @hmeorid, Lig

What are the three eternals accepted in Saiva Siddhanta?
A) Karma, Pati, Jnana B) Pati, Pasu, Pa sa
C) Pa sa, Jnana, Jeeva D) Jeeva, Jnana, Pati

@ysmor_mb mhgTe(H S LsTusS0 cpusar 2 NusSS aissms HL&EW

6T Nflg&Sl0 LI L g ?
A) 1:5:1 B) 5:4:1
C) 2:3:1 D) 4:3:7

During the Second Five-year Plan period, the planners worked out the
capital output ratio at
A)1:5:1 B) 5:4:1
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21.

22,

23.

24

C) 2:3:1 D) 4:3:7

fleTCs&ES Smeflsr 9n@

A) Ggid B) oLyl

C) gld D) &lymd

The unit of capacitance is

A) coulomb B) farad

C) ohm D) gram

66 Lrfllmer Hsa0smaTs Cal&5SmEILILDMS . . . . . . .. 6T60TM)| & MIGeIMLD
A) gTeeTd B) 7 / udley

C) sl LenLoLiL D) @lemeu o|smesrSgin

A collection of related data, that is, having a similar purpose is called as
A) database B) Record

C) structure D)all of these

6ThS o6toT(h LIGhETLSSITTE (pemm @bSiumailsh Clsm_misuu’L g) ?

A) 1950 B) 1959
C) 1952 D) 1962
In which year was Panchayat Raj System inaugarated in India?
A) 1950 B) 1959
C) 1952 D) 1962

UL 1gwied T en i iguied IT 2 16t Qurpsd), &6 Garhissiu Herer @Gluibhaemers
@& meor(h srflurer allenLsmiug Caiihb6ls 0.

UL tg w160 I UL tpuisd 1T
a) &me(hGlale 1) Qeoritogtr
b) efomepesfleur 2) spmr(
C) FaEITLITEIE) 3) @Samedl

d) e1é.67. H\(messwriieTemer 4) QIiTThHS)

Gmuibser:
a b c d
A 1 3 4 2
B) 1 2 3 4
c 3 4 2 1
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D) 3 4 1 2

Match List-1 with List Il correctly and select your answer using the codes

given below:
List-I List-Il
a) Caldwell 1. Germany
b) Veeramamunivar 2. Tamil Nadu
c) Ziegenbalg 3. ltaly
d) H.A. Krishna Pillai 4. Ireland
Codes:
a b c d
A 1 3 4 2
B) 1 2 3 4
C) 3 4 2 1
D) 3 4 1 2
SLlLflstr (s Hlessr(h
A) ¢gyLmoewuf] & eu0r(h) B) dlaursir flsetor(h
C) Nnuss6v [flsevor(p D) gisnmdl flsetor(h
The first 'Nigandu' in Tamil is
A) Soodamani Nigandu B) Thivagara Nigandu
C) Pingala 'Nigandu D) Agarathi Nigandu
2 Ul GMidheus)

1) usSyLer gl jorianig)
2) Geugrssfler @mISILEGES).

3) (eIl LGS
4) 9588 siflemmsaflsr oM
By
A) 1wl (ud srflumerg) B) 1 pmio 3 sflwresrg)

C) 2 3 mmd mrerE Fiflumereneal D) ojsmersgiln siflumsrenel

Upanishad refers to
l. Sitting nearby devotedly
II. End of the Vedas
I11. The Jnana section
IV. Basis of Astika Darsanas
Of these
A) | alone is correct B) | and Il are correct

Dream Dare Win
WWW.jeywin.com



27.

28

29

30.

31

O Il, Il and IV are correct D) all are correct

1919 gyib gy eT(H& &1L 1D @I 6oL g1 Slemil ————————— Gamevor(h UHESS!
A) s TeTTS 60 B) meul L &lev

C) ewLow gyrele D) @eummier Tgie|flevemev
The 1919 Act brought Diarchy

A) at provinces B) at districts

C) at center D) None of these

TG ITITITITLLIGO0T (&) (T D6 STITHGEUT QI

A) sipmr(H B) aipm_sm

C) Gaiyermm D) gy drnfrGeei
Narayana Guru belonged to

A) Tamil Nadu B)Karnataka

C) Kerala D) Andhra Pradesh

16 QumLlsaflar ellhusmer afsmewrerg 20 Gurmlsaflsr 9L &6 almass
&LoLD 6T6vflev, 9|

A) 20 556550 HEJLLD B) 25 55651 megL LD

C) 20 s56igL0 emLILD D) 25 ggeaigid LD

If selling price of 16 items is same as the cost price of 20 items, then there
is a

A) loss of 20% B) loss of 25%

C) gain of 20% D) gain of 25%

LEHETILSSITTEY (LPemmsE r&liLevsnioliy FEliumrer gmEsmrn Gesrhss Smssin
678 ?

A) 78 615 SH(HSSL B) 74618 (551D

C) 64a1g) Slm551 D) 726u8) $l55510

Which Amendment gave constitutional recognition to Panchayat Raj?
A) 73rd Amendment B) 74th Amendment

C) 64th Amendment D) 72nd Amendment

BTIL6ITLOMT &6me auIflene IL(hS8Is

A) S(HHTOSSTE, &hart, B) SOULST, SEmBTaYSSTET, &HSIT,
FLOLGSIT, Lomensll&seuTasiT Lomeunfl& 6T S &I

) SIb ST, gounsi, D) wreallesamsst, SOULBST, &HSIT,
S(mETeYSSTEl, LTsufl&Ssanasit S\(mmTe S sTa
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32

33.

34.

35.

36.

Classify the correct order of the Nayanmar?

A) Thirunavukkarasar, Sundarar, B) Sambandhar, Thirunavukkarasar,
Sambandhar, Manickavasagar Sundarar, Manickavasagar

C) Sundarar, Sambandhar, D) Manickavasagar, @ Sambandhar,
Thirunavukkarasar, Sundarar, Thirunavukkarasar
Manickavasagar

618 GUITEITMS;) "26mL_60" 6TEITERIMITT EET(EHEUIT ?

A) 8i&&6m B) Ggeor

C) 2.1y D) &Ly

As per Valluvar 'Oodal' is as like

A) sugar B) honey

C) salt D) sugarcane

afpsd’ gemLig Osmeamehé@En aumdullar smon SLHS Sreameme’ sTer
&iflien ufitglemTufene gnplu Gemeveur——=———

A) Guordleumsy G (m, B) 6110.68. &Mh&)

C) argmi eusveuLImil LIGL 60 D) sumey smh&ly GLimen

The leader who described Cripps proposal as a "post-dated cheque of a
crashing bank" was

A) Motilal Nehru B) M.K. Gandhi

C) Sardar Vallabhbhai Patel D) Subhash Chandra Bose
&SI TSI (PSH6) LSSSLD

A) wgIenTs &Ehd B) Qm(hmeveumsmL

C) sTeur g D) (ypebemevLiLim” (h)
Nakkirar wrote the book

A) Madurai Kanchi B) Nedunalvadai

C) Elati D) Mullaippattu
FHEHMHNSmS Sevot_ Ml lg.6T&. oM 6T LeTLHISSIL 2 uilifl
A) @@smrlsveur B) 19 GrmGamileom

C) el D) By, GrmreroGumym

The organism used by T.H. Morgan to study mutation was
A) Chlorella B) Drosophila

C) Yeast D) Neurospora

&1 9Mld 2 fememil 6ThS BT (WS60l6L THLGHISSILG] ?
A) oQuflssr B) @rudleunhg)
C) Niymesrery D) &&SL_eor
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38.

39.

40

41.

Which is the first country in the world guaranteed right to information?

A) America B) England

C) France D) Sweden
2_(LI6DL 6T6ITLIG

A) 2 auemwg CgTams B) uewrys Gamens
C) ellemerrs Clgmens D) 2 1hemwns Csrens
Uzhupadai denotes

A) Uvamai Thogai B) Panbu Thogai
C) Vinai Thogai D) Ummai Thogai
@IngINVSTeT SLILIVSL (HLD H6TLD 6THIE) I|eOLOhESI6T6NE ?
A) eNlETSLILIL Lg 60TLD B) Glastrsment

C) Qar&dl D) (pLbsmLl

Where is the Hindustan Shipyard located?

A) Vishakhapatnam B) Chennai

C) Kochi D) Mumbai

@ndwreaflsr & semi stereor LGell&&Ts GUT puilL mT ?
A) smwerbleisug—er Gurg Glswer  B) s.prellsr Glumg) Glaweort
C) gmigdlem Glumg) Glewevit D) wQesrsGamaflsir Qg Ggweort

Shashi Tharoor of India was a candidate for the post of

A) Commonwealth Secretary B) U.N. Secretary General
General

C) SAARC Secretary General D) UNESCO Secretary General

srGLmeVL_ euIreuri” 6T6aTLIG) FLILIG S GlFidsafley Clalaflairs smysmrid. 9|

A) s eoliumenfliu SLiLsd B) e eflwumumrs sLiue

C) Gemomedl sL&SOSMTSeTT D) @ESH meyiflsemms @uisslubhSns
SLESLI

UL g

Stolt Valor' was in the news because

A) it is a Japanese ship B) it is a merchant ship

C) it was hijacked by Somalian D) it was sailing with Indian sailors
hijackers

@hdwreilssr 39—eug) LstTeoTL (hSSHlemriiLiL oSl 6Tk Kool GLnma) ?
A) (pLbemL B) uermef]
C) QameaL L D) GlL_svedl
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43.

44,

45

Where did the 39th International Film Festival of India take place?
A) Mumbai B) panaji
C) Kolkata D) Delhi

6Th BT (HL6T @lememrhgl idmeier (gL Camefls NrGumen seajsmemTsniu
@S surflgglererg) ?

A) @lsnGrrev B) GLsoriomi

C) mewim D) WSlireareny

Supersonic BrahMos missile is a joint venture between India and
A) Israel B) Denmark

C) Russia D) France

Hlereupd 61hg 2 uflfleorn o wiis. HULOSS0  (penmuiled SlensTGasmLmsendlsor
2 (HEUTSGLD LstoTeumlp CrmidlmLllsemer oLfls@ELn 2

A) igemrCaTEILiLom smeuTsiTa B) gyenGlLiislevsusin smmenit

C) Glussfl&ledlun Gmm GLLLd D) &GLmflwd &GermGuraid

Which of the following acts as biological control organism against
glycotoxin producing soil pathogens?

A) Trichoderma virens B) Aspergillus niger

C) Penicillium notatum D) Chaetomium globosum

9l L_evfleor gyt by eumseoTLoMsar “Gevetor Grmeur’—ey eSIWSILGSSIL @hS
surgenr SMflLiy flmieesrid

A)mm B) wGanmSrm—oGamnglrm

C) urmgl-agian D) el glevgmer GLom L mien

The Indian auto major who acquired the British luxury brand 'Land Rover' is
A) Tata B) Mahindra and Mahindra

C) Maruti Suzuki D) Hindustan Motors

&&eT  eetoTGleroril  eflemey  2008-gpid  guevr(h @miSuiley  eflsmev
afp&FFILMLESSMSTEr SIS &(HSLILI(h6S

A) s&am eewmememoruilesr 2 MuSGSH B) Lmeurfleir &LImE LD

P55

C) Lmevrfleor Logllijwiie D) 2 o8 Coemauuiley aipsd

The fall in crude oil prices during the end of 2008 is attributed to
A) increase in crude oil B)fallin dollar value
production

C) rise in dollar value D) fall in world demand
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46.

47.

48

49

50.

51.

LIMTT& 6UITLO 6Th& LoT&MemT&Heng Cahgeur ?
A) [@edleoTmiiieny B) Blpuwims
C) 6uIeiv 67(EFF606V D) suregliiL_eor

Barack Obama belongs to which State?

A) lllinois B) New York

C) Los Angeles D) Washington
anflevsurifl &lerfleT6iT 6THS SHL_FlemILE SmihSHeUT ?

A) setrenirGeulg 6l HL_& B) Gamadledlevl s &l

C) GyWras L& D) spenrmmiuss sLd
The political party to which Hillary Clinton belongs is

A) Conservative Party B) Socialist Party

C) Republican Party D) Democratic Party
giusHlev femeuwstrerv Hlmieleorid eTevorGlswmil LMD @nens sTiflaumy alaTSHms
SeorL_Mihglemem gy mmINLGens

A) Gargmeurfl — &\(megssorm B) miingm — gL

C) dinbys&rm — Shiens D) waird — @nSrmeud)

Reliance Industry recently explored oil and gas from
A) Godavari - Krishna'basin B) Narmada - Tapti basin
C) Brahmaputra - Ganga basin D) Mahanadi - Indravati basin

2001 ws&6ar CgTms Sems0lshlsary Gusrser dssme] aldsn 30%
&6DMEUTES 2_6T6T LOMEUL LTBIS6IT 2 66T LomThleuLd.

A) Gaermid B) sUilpmr®

C) 2 S NrGseLn D) siiEmLsL

Female literacy rate is below 30% (2001 Census) in select districts of
A) Kerala B) Tamil Nadu

C) Uttar Pradesh D) Karnataka

@l Gumsneg GaLL mrsn GCume’ — @&6ISTLIT 2 6T &GILn 2_6uoTie 6T ?

A) 9|ems B) 9|&a10

C) GarLid D) ufigeiiiiy

Idiosai Ketta Nagam Pola' expresses the feeling of
A) pathetic sentiment (Azhugai)  B) fear (Achcham)
C) anger (Kopam) D) languish (Parithavippu)

o LGur® eureurwes ‘g auailhsmea’ Gumerd e CsTaTme
@sueumm) oyeopSsLILEHSMS.
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53.

54.

55

A) 50T Slflene B) oiGrm&agpsiblemen
C) Sausiryss) D) aliGs &Sl

Liberation is possible while living with the physical body. This theory is
called

A) Sadyomukti B) Aparoksha mukti

C) Jivanmukti D) Videha mukti

&It SeTLmeSERT LlgE Sl evr Gl&TeoTL &TeurLd 618 ?
A) 2 sl eow&@GermeGasTilaT  B) Gaeurm @)etorie s
C) 9|5meGr&ELT @svorie ST D) emuipsiv GLosuery

Which of the following has the smallest flower?
A) Wolffia microscopica B) Canna indica
C) Azadiracta indica D) Pyrus malus

SLNSemTUle0l(mEg smeTlL(HLD L6 Hausesmmmmigssmer euflengiL(hss)s.
l. &evoTL_& Fifle |6

I &6 & SIL_(b)

Il ILp &L60 sLnlleauef]

v IS 9 &Ll
A) L 1, 1V oo 1 B) I, I, IV wmmuid [
O I, 1, 1 omrd 1V D) |, I, 1l wpoud 1V

The correct sequence of their seaward appearances from the coast is
l. Continental slopes

II. Il. Continental shelf

OI. Il Deep sea plain

IV. = IV. Oceanic trench.
A) Il 1V and I B) I, 1l IVand Il
Ol 1, il and 1V D) 1, II, ll and IV
6ThS LfbgemmuilsarLig &SI SetoremennillLG & MUSSLUILLL &) ?
A) fifauns; idlms56 &W B) Gamisumeor gjnflsemauilesr Lip
C) &lmumerefl &y D) 856D &(W-

Central Vigilance Commission was set up on the recommendation of
A) Administrative Reforms B) Gorwala Report

Commission of India

C) Kripalani Committee D) Santhanam Committee

EUEITLIL|S6M6IT 66D LILIDS S
A) 9|p®, ojenLn, Game, QgTeTsmn  B) gjenwn, 9@, Ggmsisnln, Gamsy
C) QgmersnLn, Gamey, gjoemio, 9@ D) Cgmemenio, gjLbemio, Camed, NS
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57.

58.

59.

60.

Classify the sequence of Vanappu:

A) Azhagu, Ammai, Thol, B) Ammai, Azhagu, Thonmai, Thol
Thonmai

C) Thonmai, Thol, Ammai, D) Thonmai, Ammai, Thol, Azhagu
Azhagu

@hHurelsd Spseor.  ehs  LUINCsssH  srwmer  Gebwl g GHiseT
aueTT S &LILI(h\eHleoTment ?

A) euLGunE LG B) g Glauin @lowinemeuliL@é)

) Cenelugdullsar D) Frius SPs@Lugd
IjmILILTEmeveIeTTL LiG

India's best quality sheep rearing is done in which of the following regions?
A) North-west region B) Temperate Himalaya
C) Semi-arid southern region D) Humid eastern region

AIDS eflwrdlemw o e HIV &@ uwefls 2. ng.d ellmnseaflsELn
(AFE T,

A) T1 eOldCumemer B) T2 sdlinGuimsmaL

C) T3 sdllnGumemat D) T4 s0libGumenat

The host cells in human physiological system for HIV causing AIDS are
A) T1 lymphocyte B) T2 lymphocyte

C) T3 lymphocyte D) T4 lymphocyte
@nSlumaisy 2 sier G wefle & EnmiE

A) GQa&miflsvsur B) o o L meor

C) &liLieor D) smamGarGuL

Which is the only ape found in India?

A) Gorilla B) Orang-utan

C) Gibbon D) Hylobate

@ISl mioeiESuller Shemng eTern) oemLSSILIHILISIT WTT ?

A) e gmid GLomssedT L B) refbHrmrs s

C) l.emid. (peoLimif] D) stid.gf). pmearGL

Who is considered as the father of Indian, Renaissance?

A) Raja Rammohan Roy B) Rabindranath Tagore

C) B.M. Malabari D) M.G. Ranade

giflumer eflenLemwd Caiia| Qals: Gougrissf e snLiw GUTEemen(SH6r) ?
A) siior i (Hib B) pmenrid Lot (hib

C) &Ifo(Ld EHTET(LPLD D) @eummier Tgie|Hlevsmev
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62

63

64

65

The central teaching(s) of the Vedas is / are?
A) Karma only B) Jnana only
C) both Karma and Jnana D) None of these

GOTSSI0 QUTILD STEUTLD 6TCILIg jEMPSSLILIHID ?

A) eSlbGevrmemuiL_ B) QenGrmemui

C) GamemLI D) 60l5GsmemL

A plant that lives in a pond is called as

A) Limnophyte B) Xerophyte

C) Mesophyte D) Lithophyte

ughsTl  omid  emiflurerm  wrhokgsT ———— Mo  wempll  Glumflsmeur
Gum&leTmenT.

A) Cunsssiu srmplerme B) aUBISSSL6D LiILI0ES6T

C) Qg6rGLIME L(HeUSSTHM)] D) (letreamemLLd Li(heUSSTH)]
Punjab and Haryana receive rainfall from

A) westerly disturbances B) cyclones in Bay of Bengal
C) south-west monsoon D) retreating monsoon

HduGararemet  LmblmssT  gemalled  gHsulgors  melS5SIS0lsTeTer
S[OUSBTELD

A) 30 mLs6T B) 21 mm_g6ir

C) 14 a6t D) 45 mm_&6ir
What is the maximum time given to Rajya Sabha for money bill?
A) 30 days B) 21 days

C) 14 days D) 45 days
FSHS60T60T EUTEGD 6TTRIG) I|EMLOLGIETETS) ?

A) wglenr B) ug156sm_smL
C) Hm&dl D) sgpamalit
Chittanavasal is situated in

A) Madurai B) Pudukkottai
C) Trichy D) Thanjavur

Eelsrsme aleTiEdsE sms5es Camurns / Carurbhisarms &msUu@Lmel
678 / 6Temeu ?

A) BT g 65T eU(HLOT6DT a6 & B) seuflmLii eu(mLoment euemi&e]

C) 9|FHSLILIQILITET CLPEVSEITLD D) @lsm6 2|emear& gL
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66.

67.

68.

69.

70.

The indicator(s) of development according to modern ideology is / are
A) growth in national income B) growth in per capita income
O) high rate of capital D) all of these

GFsogyieumii(h Lmmid GaeGarGusiraaflsor Gaugluiiue Coumim(ha e eTeasor ?

A) @kl @Cr Gudufwed B)  QawGurCusiragsr  Gasaysumieni
@emwwsemer GLmmIETeT6aT S lgyild 676y SILIMHME &v_lg WismE

C) Geogieumings  enmlresr D) Glgweyemilgs LmsiuL  LbumigsT
2 6iemg, GFaGamGLenfled smmLrenstT  eTaflEled 6L g &Gl TET(EHLD

(@l606m6V

What is the chemical difference between celluloid and cellophane?
A) These two materials have the B) Cellophone is._much more

same chemical composition inflammable than celluloid
C) Celluloid contains nitrogen D) Photographic images stick better to
while cellophane does not celluloid

aflevor GQleuarfluflear GLosuymid 2 6iem HHI&ES
A) ignmGumeroL i B) snwiGearmervtlim
C) iGameroL it D) e gmGLmero i

The topmost atmospheric layer is called
A) troposphere B) ionosphere
C) mesosphere D) stratosphere

L& Glgmfled emeGourm (pa&emin sTUGCLTG LTIDNSSILLL &) ?

A) 1956 B) 1961

C) 1980 D) 1986

New Enterpreneurs Agency was established on

A) 1956 B) 1961

C) 1980 D) 1986

Ialo Slpsahdiu sntlusfluflsr semL& seurert GlaeTrey wmT ?
A) smesfléi 197y B) efluedluid Glustomig M

C) ruri. Hlemearey D) fiuesr 19y

Who was the last Governor General of the English East India Company?

A) Lord Canning B) William Bentinck

C) Robert Clive D) Lord Ripon

siflgerid eTeurLiL(HeLg)

A) o_suoTenLoulesr LMTene B) aLaeflesr Limiemeu

C) eumpsemasuiletr suLfl (pemm D) @eummie 6186 |Lilsvemev
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72.

73.

74.

75

Dars'ana is
A) the vision of truth B) the vision of God
C) the way of life D) None of these

LTSS 96ToT(h CUEHETILIRISEMET 6T600T6O0l ILILTTSS) |S60T QLS S65oTL LD
Utg UiSleor Gl

A) @6t Grmélmo B) QlLstrig G Grrmsarmeusd]
C) etsvorLGLomeugs) D) GegrysarL_mevss)

The study of age of the trees by counting annual rings is called
A) Dendrogram B) Dendrochronology

C) Entomology D) Gerontology

@nS grliley smaeT TMSSI6T SHemeveurT WM 2

A) sosuemievrey Gm(m B) warsLor sihd

C) mrGaom &l iyems D) &g uGL6d

Who was the Chairman of the Indian Constituent Assembly?
A) Jawaharlal Nehru B) Mahatma Gandhi

C) Rajendra Prasad D) Sardar Patel
Gomflufwed gydlesrt wimm?

A) |- @ITmLomTS 68T B) . 6]. EpmeuTeLpisH&)

C) b. sUYQIL L wimit D) &. 955$U60lhisLD
Linguistics scholar is

A) Aru. Ramanathan B) T.A. Gnanamurthy

C) Na: Subbureddiar D) S. Agathialingam
SmfiuLd sTeuaimy &msLUbSEng) ?

A) s LT&EUHSS)LEme B) Feorr raLbhSGILsme!
C) wetwr Lr&LHSSILsn6! D) @lemeu gjemear&gin
Lead is considered as

A) air pollutant B) water pollutant

O) soil pollutant D) all of these

Herreynm  amisCame g e gHe gerale uriys Seurdfluflemmey
2 MlghFLILHID UL 6T ?

A) CO, B) N»

C) CH4 D) Ar

Which of the following gases is adsorbed mostly by activated charcoal?
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77

78

79

80

A) CO; B) N

C) CH,4 D) Ar

GleuLiend) eTedTLIG ?

A) emeured Gmmil B) urslerflued Gl

C) QLiGLmemoGuwirelanig siv D) @eummier Tgie|LHlevemev
Leprosy is a

A) viral disease B) bacterial disease

C) dermatomyosistis D) None of these

S L& & a6 Semevaurt LT ?

A) HILL gemn&ar B) umflev ojeoLo&&i

C) dlysLo k&I D) glemevor lsLo LomSNI
Who is the Chairman of the Planning Commission?

A) Minister of Planning B) Minister of State

C) Prime Minister D) Deputy Prime Minister
UDETeTHe)’ 9ihle jeTalled LITL 6086 LilglLiourt

A) géTemeuLLITT B) &9evurt

C) Gameyt &lipm D) Lipevorit

Whose songs were found to be more in number in 'Purananooru'?
A) Auvaiyar B) Kabilar

C) Kovur Kizhar D) Paranar

STEUTRISEMET alemsLILI(hSS Sl @Iunems (pemmeniLl (LpearGlLomflhgeur(geir)
A) Sliymest@ellevLSlrmedr@elleul B) strugent LommiLd LiymesorL_ev

C) eVlearGeoriLieny D) @QurisLd Lnmid end&&T ClLkESL LHILD
N D& eI

Natural system of plant classification was proposed by

A) Cronquist Cronquist B) Engler and Prantl

C Linnaeus D) Bentham and Hooker

SpeumeueTounmisT  jelien o Memwsefler  LITSIGTaI6T 6T  ———————
&mSLUILHEGI(T)

A) dlrsLo wESIf B) &mauesh g smevoTiLmenTt
C) ps6ed gjem&ar D) £ &5 gmm

......... is regarded as the custodian of fundamental rights.
A) Prime Minister B) Police Commissioner
C) Chief Minister D) Judiciary
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82

83

84.

85

&mev gy rmiug&uilear (LpeiTGeormip
A) LML Ijlg SH6IT B) &.8. MeTener
C) erarv. smeuumyifiis Sleremerr D) G&. Gs. Llsiremer

The Pioneer scholar of chronology is

A) Maraimalai Adigal B) Ka.Su. Pillai

C) S. Vaiyapuri Pillai D) K.K. Pillai

u&meOL LommLd Elymemesrl @ITsuor(bId SLNS6T0TL 6THS 6L6ME LITEDMEMILIE SMTHSS ?
A) Sluremm B) o mompilw Lmemm

C) Lo ILITEmMS 6T D) @eummier sTgie|flevemev

Basalt and granite belong to which type of rocks?

A) Igneous rocks B) Metamorphic rocks

C) Sedimentary rocks D) None of these

@\(mwL emerr sTesmeTTEIm GlEIl LLeTTGL 2 GemsLd 6Tg) ?

A) @GrmLdluD B) fini&

C) fl&&60 D) wnmisefe:
Which metal is used for Galvanisation of iron?

A) Chromium B) Zinc

C) Nickel D) Manganese
@I_Lfl_siv ———=————

A) weorsoafled 2 6mem YLl Sifloll  B) SToTISnAT 2_6voTLIsme

@UT(RETSHEMET 2_sToTLIENA

C) ersorGLmerres5ME 2 swremey D) wevor el Lilmhg 2 swrenaull Gumm)
(OF:3 O RAE LI 2_6UOTLIEME

Detritus

A) feed upon organic decayed B)take food from plants
food from the soil

C) take food into endoplasm D) take food from earthworm

@& Geusrmetorenio Gigmflevmariaeflsr (pseireniowimer QU meaTTsMy LyéSlemeo
A) GEDMEUTSIT 61(ThEUTLL B) 9|dla ojemelleomer &L 6T SiemLo
C) 6TLDEMLOILITEDT GUTLNEHEDEHSSITLD D) gjsmLliLmm menL (Lpenmss6it

The foremost economic problem of India's agricultural labourers is
A) low income B) heavy indebtedness
C) poor standard of living D) absence of organised activity
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86.

87

88

89.

90

ausLEUTEDNS Senmenill FlSsTaer sTGLIfIL(H oysoLpsser ?

A) Seoir
C) umhgl

B) areveud)
D) @leul" &ihl

How did the Sithars call 'Vallarai Keerai'?

A) Keerai
C) Marunthu

@amiflsb medl6y eTedTLIG ?

A) Gamfihsreneuiley CHamID 6
UGE LUTEHSSLIL(HS60

C) oufl eumurarsms srGer
2 (HEUTEHE (LPlplLTEMLD LOMMID SL65T
Qubmisgrer  Cgmflven B
(PlgplLLD 6T6aTM [Hl6mEV

Industrial sickness is nothing but
A) any one part of the factory is
being affected

C) unable to create surplus
income and running the industry

B) Saraswathi
D) Lakshmi Lakshmi

B) eunmudlu sLemer Hmil Qs
(PlgLLITEHLO
D) Qamifimemsne 2 fiod snswrlal(hise

B) unable to pay back the debt

D) change in the ownership of industry.

only by receiving the debt

ler 2 e &l ————= Lil6dT ML LHmILd ————— 2 (H(&IH6mEVEMILILLD
2 6L ILIG).

A) ODES, iFle B) oifls, sifle:

C) &b, GOk D) gigls, @mnhs

Fuse wire is a wire of ........ Resistance and ......... melting point.
A)low, high B) high, high

C) low, low D) high, low

6TIh& Snmn) erfliumesrs) ?

A) IS seflurhisEpd  B) s sefllo e, ST8 /s
BTSIHS6IT

C) (1 S| 6(1h SevflLoid gy606v D) 9658 S8 EMhHLD &6nflLomis 6

Which statement is correct?
A) All minerals are ores
C) An ore cannot be a mineral

wireneoTufledr SHGSLD ———————
A) wrlwenohg Gleul (Hid un&siT
C) LompfluemLoh S (L6OTSL6UTIL LINEG6IT

B) A mineral cannot be an ore
D) All ores are minerals

B) mflueniohg Sfl&@Ln Lms e
D) wmplleniofig LSl6T SL6uMLl LIN& 6T
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93.

94

Tusk of elephant is
A) modified incisors B) modified canines
C) modified premolar D) modified molar

s&\fneunflafeTssLn’ sTemamd HITemev 6T(HSHILaIT
A) 67.Cs. Q&L 1gwimt B) uettrig SLo6wwf] &GTEsT GlEFL 1pwimT
C) Qeusismer eumy6voTI D) eémsmer &. gleoramil Sleyremer

The book 'Kathirmani Villakkam' was written by
A) A.K. Chettiar B) Pandithamani Kathiresan Chettiar
C) Vellaivaranar D) Auvai Su. Duraisami Pillai

&HNLGHSmSE SevoTLMIb&eT Wi ?

A) 9wyl Syl B) GuoL_td &l

C) em&iTSGUmT(H D) Gameir)l Glus @ T
Radioactivity was discovered by

A) Pierre Curie B) Madam Currie

C) Rutherford D) Henri Becquerel
2 6T6MTL_ & QTFTTRIGLD 6TEITLIGH————=——— SH6ITENLOILIT(GHLD

A)  QugplbumsiTenlowmssr  SNSTER  B) &SI & BT(ha&6T L (HLd
ST &HS6T
C) ememm oi1 & BrHIST L (HiLd D) & L& Br(hser L (HiLb

Local government is a feature of
A) most.modern states B) only democratic states
C) only unitary states D) 2 only federal states

9|55 S\meunr sneliLj(psnmenil euflenslILbhSsis
A) @sL, (pesmsv, GDlerd, urems, B) (pevemev, GmSH, GMlerd], LmSLD,

OmLIgH60 LIT6m6V

C) umeme, (BB, GOIErS), (pevemey, D) @Mlerdl, (pevemsv, LS, GBS,

LO(HESLD uTemey GMIEHs), (Lpsusmey, LoHSLD, GBS,
LIT6m6V

The correct order of the Agam landscape is
A) Marutham, Mullai, Kurinji, B) Mullai, Neithal, Kurinji, Marutham,

Paalai, Neithal Paalai
C) Paalai, Marutham, Kurinji, D) Kurinji, Mullai, Marutham, Neithal,
Mullai, Marutham Paalai.
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96

97

98

99

FslusH  sevell Guoum (s Goluiligsr geliuemLule 6Hg  Lomfleld
WPSOILSE)60 2 6iemg;) ?

A) spmr(H B) Cairemm

C) sipIL_&T D) g SrinfrGsesi

Which State has topped the latest State-wise Education Development
Index?

A) Tamil Nadu B) Kerala
C) Karnataka D) Andhra Pradesh
2 &aailed 9S8 UM L &enlgll 58S SIfurms &msLLbLaT w2
A) umsy GamusGamm B) seLomeir (m6islp
C) Qegiifl gy fi&sm D) reuafii
Who has been named recently as the world's best paid author?
A) Paul Coelho B) Salman Rushdie
C) Jeftery Archer D)Rowling
KDM 916 stettmimeb 6Tearent ?
A) 9.16% &&5L0mer Shis B) 9.16% &&sLomer ShisLn
C) 9.16% Q&L sehss! D) 91.6% &&sLomsr Shisin
What does KDM 916 mean?
A) 9.16% pure gold B) 90.16% pure gold
C) 9.16% copper D) 91.6% pure gold
1,2, ... n 67601 6TevOTS6If 60T Sl (B ETTEflLTEITS)
A)n(n+1) 2n+1)/6 B) n(n+1)*/ 4
C)n(n+l)/2 D) n(n+1)/4
The arithmetic mean of the numbersis 1, 2, ...... ,nis
A)n(n+1) 2n+1)/6 B) n(n+1)*/ 4
C) n(n+1)/2 D) n(n+1)/4
0.169
0.00144 —

A) 130 B)12

2 130
©)0.13 D).13

12 12
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100

A4 B)3
C)2 D)1

A) 4 B) 3
C)2 D) 1

101 Find the Odd Word :
A) Floppy B) Printer
C) Laptop D) Radi

102  Find out the Odd word :
A) Canoe
C) Boat

103  Find out the odd word :
A) Laugh
C) Provoke

104  Find out the odd word :

A) round B) Square
C) rectangle D) Sound
105
B) Square
D) Sound

106 form for the given word :

B) Countryes
D) Countrees

107  Select the correct plural form for the given word :
Mouse
A) Mice B) Mouses
C) Mices D) Moues.
108  Select the correct plural form for the given word :
Brush
A) Brushes B) Brushs
C) Brushies D) none of these
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109  Select the correct plural form for the given word :

Woman

A) Womenes B) Women

C) Womens D) Womans.
110  Select the correct plural form for the given word:

child

A) Childs B) Childrens

C) Children D) Child

111 Fill in the blank with a suitable homophone :
They went for a ......
A) sow B) saw
C) show D) scene

112 Fill in the blank with a suitable homophone
Mr. Daniel is the......... of the College.
A) Principle
C) Princely

113 Fill in the blank with a suitab
The teacher writes on the......
A) bored
C) beard

114  Fill in the bla
Mumbai is a ......

B) Populous

D) Populate.

115

B) darn
D) damp.

116

B) gone
D) To go

117  Fill in the blank with the suitable infinitive :
..................... false evidence is a sin.
A) To give B) To giving
C) Giving D) To be give
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118  Fill in the blank with the suitable gerund :
I am interested .....................
A) To swim B) in swim
C) for swimming D) in swimming

119  Fill in the blank with the suitable infinitive :
..................... is to improve the body
A) To run B) To ran
C) To be running D) To running

120  Fill in the blank with the suitable gerund :

Heis hard of ....................
A) hear B) To be hearin
C) hearing D) none of t

121  Fill in the blank with the correct form of tense:
When I saw Ram he ......... cricket
A) played
C) is playing

122 Select the correct tense.
Kiran had been working in a
A) Simple past
C) Past perfect contion

123 ect form of tense

B) knew

D) have known
124

B) past perfect

D) Future perfect
125

B) Past perfect
D) Simple present

126  Fill in the blank with the suitable article :

Isaw............. one eyed man.
A) some B)a
C) an D) the

127  Fill in the blank with the suitable article :
Yesterday......... European called at my office
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A)a B) some

C) an D) the
128  Fill in the blank with the suitable article :

she never goes out without .......... umbrella.

A) an B) the

C)a D) some

129  Fill in the blank with the suitable article :

This is............. pen which I lost last week.
A) the B) an
C)a D) some

130  Fill in the blank with the suitable article :
HeiS cooeeveveeeeeeeann. member of our club

131

A) over
C) on

132

133

B) against
D) with

134 i i e suitable preposition:
..................... e man stood the child

B) Between

D) Beneath

135  Fill in the blank with the suitable preposition:

Rajan is sitting ......... Ravi
A) besides B) beside
C) at D) between.

136  Match the following words given in Column A with their meanings in Column B
and select the correct answer from the choice given:
Column A Column B
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137

138

a) Cautious
b) remember
¢) ruined

d) conscience

spoiled
careful

awareness
recollect

el e

Choice:
a b C d

A 1 3 4 2
B) 2 4 1 3

C 2 4 3 1

D) 3 2 1 4

Match the following words given in Col i i ings in Column B
Column A

a) famous

b) shift

C) passive

d) negotiate

Choice:
a

A) 2

3
@) 4
D) 4 2 3 1
Match ollowing words given in Column A with their meanings in Column B
and select the correct answer from the choice given:

Column A Column B

a) nap 1. 10 years
b) revolt 2. short sleep
c¢) decade 3. pain
d) ache 4. protest
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Choice:

A 1 3 4 2

B) 2 4 1 3
C 1 4 3 2
D) 4 3 1 2

139 Match the following words given in Column A with their meanings in Column B
and select the correct answer from the choice given:

Column A
a) reflect
b) destiny
¢) tranquilly
d) intense

Choice:

140

wer from the choice given:

Column B
1. practised
2. rose from the ground
3. entered by force
d) took off 4. failed to keep up
Choice:
a b c d

A) 1 4 3 2

B) 3 1 4 2
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c) 2 4 1 3
D) 3 2 4 1

141  Choose the correct synonym for the italicized word :
Sachin showed a remarkable passion for Cricket.
A) disable B) Zeal
C) fashion D) action

142 Choose the correct synonym for the italicized word :
The car journey can be wonderfully exciting.
A) Thrilling B) beneficial
C) surprising D) educative

143 Choose the correct synonym for the italicized
Reminisceneces of one’s life is worth recording,
A) memory
C) mark

144 Choose the correct synonym for the ita
The page were crinkly.
A) old
C) spoiled

145

146

B) Compound
D) Negative
147 given sentence :

found the purse is my cousin.

B) Negative
C) Simple D) Complex
148  Identify the given sentence :
He was rich but he was not happy.
A) Simple B) Compound
C) Interrogative D) Complex
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149

150

151

152

153

154

155

156

Identify the given sentence :

He is too small to climb the hill.
A) Simple

C) Compound

Identify the given sentence :

B) Complex
D) Negative

Sachin scored a century and the spectators applauded him.

A) simple
C) positive

Identify the given sentence :

B) Complex
D) Compound

No other girl in the class is as intelligent as Uma

A) Imperative
C) Positive

Identify the Superlative degree :

A) Australia is the largest island
C) Australia is larger than any other
Island

Identify the Superlative degree :

A) Tom is one of the tallest boys in
the group

C) Tom is taller than most other
boys in the group.

Identify the Positive degree :

A) ~Gandhi is the greatest of all
leaders

C) No other leader is as great as
Gandhi

Identify the Positive degree :

A) Manoj is one of the bravers boys
in the Class

C) Very few boys in the class are so

brave as Manoj

Comprehension :

B) Superlative
D) Comparative.

B) No other island is as large as Australia
D) Most of the islands are not large than
Australia

B) Very few boys in the group are as tall as
Tom.
D) Tom is as tall as Jim

B) Gandehi is greater than all other leaders

D) Subhash Chandra Bose is not greater
than Gandhi

B) Manoj is braver than most other boys in
the class.
D) Manoj is braver than Salim

A bat has wings,. It looks like a mouse. Its eyes are small. it prefers to sleep in
dark corners. But it neither hatches eggs nor lays eggs.

The bat is a/an
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157

158

159

160

161

162

163

A) bird B) insect
C) mammal D) none of these.

Comprehension:

The first man to travel in space was a Russian named Yuri Gangarin who in 1961
shot up to a height of 187 miles and was put into orbit at 18,000 mph. He went
once round th earth in 89 minutes and then was slowed down by small rockets
fired in forward directions.

A) Armstrong B) Kalpana Chawla
C) Yuri Gagarin D) Neil
Comprehension:

Deolphins are huge mammals. They are noted for their sharp brain. They are very
friendly and can be trained by human beings to do acrobatics. Dolphins are

A) rude B) friendly
C) lazy D) moody
Comprehension:

Meg helped Jo clear away the remains of the feast which took half the afternoon,
and left them so tired that they agreed to be contented with tea and toast for

supper.
Meg helped Jo in the

A) kitchen B) hotel
C) park D) office
Comprehension:

The silver spots tell us where the cotton has been hidden and gold spots tell us
where the wheat has been hidden.
Wheat spots are marked by

A) gold B) silver

C) platinum D) diamond
Comprehension:

Select the correct sentence:

A) I took pity on him B) I took pity for him
C) I took pity about him D) I took pity on him

Select the correct sentence
A) His uncle met with an accident B) His incle met for an accident
C) His uncle met on an accident D) His uncle met in an accident

Select the correct sentence:
A) I'look forward to meet you B) I'look forward on to meet you
C) I look forward to meeting you D) I look forward for meeting you
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164

165

166

167

168

169

170

171

172

Select the correct sentence:

A) I met an European in my school ~ B) I met an European in my school
C) I met with European in my D) Imet the European in my school
school

Select the correct sentence:
A) The competition for the 1% rank B) The competition for the 1% rank is

is for Tom and Ram between Tom and Ram
C) The competition for the 1* rank D) The competition for the 1* rank is from
is among Tom and Ram Tom and Ram

Identify the sentence pattern:

They have revolutionaised the life style
A)S.V.C. B) A.S.V.C.
C)S.V.0. D)S.V.A

Identify the sentence pattern:
The Judge found him guilty
A)S.V.O.A
C)S.V.C.A.

Identify the sentence patte
They played well in th

A)S.V.O.A. . A

C)S.V.0. D) S.V.CA.
B)S.V.O.C.
D) S.V.AA.
B) S.V.O.A.
D) S.V.0.C.
B) daringly

C) dared D) dares

Change the noun into verb:

Identification

A) identity B) identical

C) identify D) none of these
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173  Find out the adverb:
A) clearly
C) clearance
174  Find out the verb:
A) sleepy
C) slept

175 Change the verb into noun:
Move
A) moving
C) movement
176  Select the correct questions tag:
Barking dog seldom bites, ......... ?
A) does it
C)isn’tit
177  Select the correct question tag:
Uma used to play cricket.......
A)is it
C) didn’t she

178

179

180

C)aren’t I

181  Select the correct voice:
Circles are drawn neatly.
A) Active
C) Impersonal Passive

182  Select the correct passive sentences:

B) clear
D) clearing

B) sleepless
D) sleepiness

B) moment
D) none of t

D) hasn’t it

B) don’t I
D) did I

B)arel
D) were I

B) Personal passive
D) None of these
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183

184

185

186

187

188

189.

190

Nobody taught English as he taught it.
A) English was not taught by B) English was taught by nobody as it is

anubody as it was taught by him taught by him
C) English has not been taught as it D) English was not taught by no one as it
has been taught by him had been taught by him.

Select the correct voice:
I see a dark cloud

A) Personal Passive B) Passive

C) Active D) None of these

Select the correct active sentence:

Smoking is prohibited

A) We prohibit smoking B) We are prohibited smoking

C) We have prohibited smoking D) We have been prohibiting smoking
Fill in the blank with the correct form of voice:

We ..o them of the danger.

A) must be warned B) should be warned

C) have been warned D) must warn

Choose the correct antonym for the italicized word
Nonchalantly he read the paper

A) indifferently B) eagerly
C) suddenly D) strangely

Choose the correct antonym for the italicized word
All kinds of awful things began to happen.

A) pleasant B) terrible

C) crafty D) mysterious

Choose the correct antonym for the italicized word

Give me food quickly
A) urgently B) leisurely
C) slowly D) fast.

Choose the correct antonym for the italicized word
He was busy reading the book

A) lazy B) dull

C) active D) tired

Choose the correct antonym for the italicized word
Distribute the sweets to all

A) retain B) share

C) scatter D) slowly
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191  Choose the correct prefix:

media
A) multi
C) inter

192  Choose the correct suffix:

wealth

Ay
Oly

193  Choose the correct suffic:

condition
A)al
C) able

194  Choose the correct prefix
sleep
A)a
C) con

195 Choose the correct suffix
move
A) ment
Oly

196 Find out the error

197

198

199

A) Earth
C) around

200 Find out the error
A) He
C)aMLA

B) anti
D) tion

B)re
D) ity

B) un
D) ful

B)is
D) M.A.

B) discussed
D) the matter

B) comes
D) Italy

B) moves
D) the sun

B)is
D) now
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